LABJNDu7-Dreieckshelligkeit T*
T* YHC_L* ﬂC_lOO’

T*L aganpu7 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=174,T* ,(18)=396,T*(90)=616

log[T*/T*]=0, m,=0,33
L* =49, T*,=396
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Normfarbwertdifferenz

Yoc=L*w - nc=100,
T*Lasanpu7 =IN[A 10+A2a)I(A 20A0n)] (Ync/L00<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Agn,a=1,0, siehe CIE 230:2019
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T*,=396 dY,=0,15 dY,/Y,=0,05F" '/
Jog(dY)=0,15 m,=0,83

log AY/Y)

LABJINDu7
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y

~

log(dY/Y): -2,05 rm——O oo

=396 dY,=0,15 dY,/Y,=0, 0087i
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LABJINDu7

- Normfarbwertkontrast
G Yoc=L*w - nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]
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log [AYY) I (AYIY),]
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THT*, LABJINDuU? relative Dreieckshelligkeit T*/T*
THT* YocmL*w nc=100,
u

T aganpu7 =[IN[A 17+A2nV)V/(A20A0n)] (Yd/100<Y<=Y,c)
T#N(3,6)=174.T* ,(18)=396.T*y(90)=616

log[T*/T,
L* =49, T*, —396
Anwendungsv
bereich
Y,=18
Yy =90

N=36

LABJNDuU7 relative
Normfarbwertdifferenz
Yoc=L*w - -nc=100,

T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIOY,=AgfA 1 +AgYI/AY,

AY/AY,
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bereich

1v,=18
Y=90

YN=3.6

LABJNDuUY relative

Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

T*Laganpu7 =[IN[A 17+A2nV)V(A 20A0n)] (Yd/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]
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log[(dY/YY(dY/Y),]=0, m=-0,15 1 -
* = = = Anwendun S|
4=396 dY,=0,15 dY,/Y,=0,0087, powendung

1y,=18

Y=90

YN=3.6

LABJINDuUT relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y =Ly, =100,

T*Laganpu7 =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
(YVIAYY(YIAY), = (YIYIAY Y)TA onAgrAgr VI (Y/AY),
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1y,=18

Yy=90




